ORoco—| Ersatzteilliste
Replacement Parts

o B
B Text Art-Nr. (22
1 Motor, DC 85009 | 57
Motor, DC
2 Feder (Platine) 86215 2
Spring (Printed circuit assembly)
3 | Stromabnehmer 85255 | 39
Pantograph
4 Schraube M 2x4 85670 2
Screw M 2x4
5 | Schraube M 2x6 85672 2
Screw M 2x6
6 Schraube M 2,2x9.5 85799 2
Screw M 2,2x9.5
7 Schraube 2,2x6,5 85800 2
Screw 2.2x6.5
8 Kardanschale 2 (Motor) 87140 3
Cardan bearing 2 (Motor)
9 | Platine komplett, DC 87694 | 40
Printed ciecuit assembly, DC
10 | Stitzisolator Nr. 7 88001 2
Support insulator No. 7
1 LoKpleile BB002 ]
Loco whistle
12 | Senkantrieb 88007 3
Counter insulator
13 Isolator Nr. 3 88008 2
Insualtor No. 3
14 Stutzisolator Nr, 4 BBO10 2
: Support insulator No. 4
@ 15 | Druckluftschnellschalter 88024 | 3
- - - Air compression switch
“f 16 | Isolator mit Hauptleitung 88078 3
(:) 0. Abb. ( no. il Insualtor with main tube
= Lokfihrer - - @ 17 Trennisolator 88107 2
Loco driver - - Separate insualtor
1._® 18 | Isolator (Stromabnehmer) 88150 | 3
H - - @ Insulator (Pantograph)
19 Topt, kurz 88151 4
l Can, short
20 | lIsolator mit Leitung Nr. 20 88152 4
= Insulator with tube No. 20
21 Trennschalter Nr. 21 88153 3
- mm— 1) 1 i % "!' o Separate switch No. 21
I ) 7 —— 22 | Puffer, flach 88502 | 4
Buffer, flat
W ———— " - i ) o 23 | Puffer, gewdlbt 88503 | 4
! m i3 | . i Butfer, vaulted
- 24 | Umschaltekontakt 89709 | 2
Switch contact
25 Lokfihrer B9732 5
Loco driver
26 Schaltachse (Platine) 89754 2
@ Switch pin (Printed circuit assembly)
27 Oberleitungsverbinder 89774 6
Overhaed supply conector
28 | Selenplatichen @ 5 mm 89897 8
Diode © 5 mm
29 | Dachleitung 92677 6
Roof wire
30 | Fenstersatz 92679 | 10
Window parts set
N Frontienster 92708 5
Front window
32 | Griffstange 92688 3
Handraif
33 | Gewicht 92947 | 24
/ Weight
QSQHUI}:QN\S@??ENON 34 | Lampenkontakt komplett, vorne 93464 | 20
tarbige Diode hier Light contact assembly, front
Lightring front (1) < - 35 Glihlampe 93521 10
coloured diod this side Light bulb
3 36 Lampenkontakt komplett, hinten 93669 | 20
2,1?;:"5?‘,"3:::" iz Light contact assembly, rear
Lightning rear (2= 37 Lampensatz 2 97871 | 40
coloured diod this side Lightning set 2
38 Liftersatz 97884 16
Airing cover se!
39 Trittbrett 47885 3
@_. Running board set
. 40 Fuhrerstand 97886 B
Drivers cab
41 Lichtleitstabesatz 97887 9
Light transmission set
42 Lampensatz 1 97888 | 40
Lightning set 1
43 Gehause komplett 97892 | 68
Betr.-Nr, 150.022-2
Body assembly
Betr.-No. 150.022-2
47 | Antenne 88030 4

: . Antenna
-—@

@

Anderungen vorbehalten Ausgabe 52/05 Blatt 3481
Best. Nr. B4958 We reserve the nght fo make changes Edition 82/05 Page 3481

@7




